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A i = 5 T % I3 ) i
st MBS B OE M [WEEM | AT B KN | N O | BUAE A X (R AV ER KR (B K e T | AT B KA | o A R BLOAE B OK [ B % R OE
DFRE| AN O WA D WA D BMEHAD Ddk TR | X Sk B | R A )
BtFEHR | H B | # H B |K oo C/AX 100
R4 A (M B (A\) (N)] C (M| D (A\) (ha)| E (ha) (ha)| F (ha) (%)
W % M| S.58.04.01 S.63.06.01 | H.21.05.05 1 1 338,784 202,052 704 704 187 31,159 1,600 32 32 0.2
[ W ] S.52.02.01 S.56.04.01 S.39.04.01 1 1 375,035 228,802 10,824 10,824 10,438 45,916 4,550 446 446 2.9
PN ] | H.01.10.20 | H.04.05.01 | H.17.03.28 2 2 223,030 81,779 1,167 1,167 726 17,554 2,209 38 38 0.5
il 936,849 512,633 12,695 12,695 11,351 94,629 11,359 566 566 1.4
W1 AR 1 =444 2 =4:BIM%
H2 HHEREOHE 1 =& 2 = E
H H i R % O E a% iR o AT N TN ® " W
i & B Aveib =] F oK B B FE L H O O |[FEMB AR UK T o N &R
MiATH N O 4y | A b R S fi g2 it B[ W R B | W OK B[ A % FRZKALER K 5 |15 K S0 ER K 2 H/GX100 | ( )PixH#LE Kk e B
C/BX 100 F/E X 100 D/C X100 WEMAR [EHETER] B & &
R4 (%) (%) (%) (km) (m3,/ H) (m3,/ H) (m3) (m3)| G (m3) | H (m3) (%) ObE) (FH) (FH1)
A i 0.3 1.8 26.6 14 1,000 115,110 115,110 56,309 48.9 1 1) 12,616 9,503
& G 4.7 9.8 96.4 94 1,727,908 192,203 1,535,705 1,193,442 71.7 1 1) 51,255 37,796
pN H i 1.4 1.7 62.2 17 95,299 95,299 79,401 83.3 1 ( 1) 12,873
Gl 2.5 5.0 89.4 125 1,938,317 192,203 1,746,114 1,329,152 76.1 3(  3) 76,744 47,299
T H T = A i
T H o AR fif A B E = Afe #H i e ES kB 5 &
R A I Y R R T A R e E R E A Y B A T I S I EE I A [ ET T B R )€
MERERHT| B K B M7= 0 A [=E 30'E
mil (F1) (1) (19 /m3) (19,/m3) (%) (1) (%) (%) (%) (%) (FH) (%)
G i 2,3 136.98 747.16 18.3 2,116 1.7 74.4 74.4 16.7 7,713 26.6
& IR i 14,318 11,346 2,3 123.06 145.11 84.8 2,134 — 129.4 129.8 74.1 172,524 2.9
EN H i 2 101.01 893.45 11.3 2,182 88.8 88.8 10.6 8,020 59.1
B 14,318 11,346 122.33 215.32 56.8 112.8 113.0 53.1 62,752 5.2
3 HAEHAR 1 =7KE R LBl = iém%J 3 = Rtk
4 = EHE = K B 6 =% 0fh
HOH itk A Hr
W A B fR il i S [3 % ‘" PE 5 A 1% B4 It B
VA AR MEEE R A E R | R ' K | R AR | FAEEE | BCEARA |AERE|BEAMG|BECEAR|FEE L R(EEEES| i 8 b F| 4 E k F |8 & KR
20 B | MR 28 R | BRI | HEARER | B odE R | B #im R | AR SR | M R R | A R W R B3 il N
Eilz4 (%) (%) (%) (%) (%) ([51) ([51) (%) (%) (%) (%) (%) (%) (%) (%)
Hil & il 3.3 45.7 A 1.4 A 1.4 A 3.8 0.01 0.01 99.5 23.2 52.2 190.7 132.0 2.2 2.2
= W 4.5 50.8 1.9 1.9 A 1.6 0.05 0.05 93.9 13.7 84.1 111.7 96.0 281.5 281.5 281.5
EN ] i 6.0 26.5 A 1.0 A 1.0 A 6.8 0.01 0.01 99.5 36.2 60.1 165.4 103.3 13.7 13.7 3.5
2t 4.0 46.7 0.9 0.9 A 2.8 0.03 0.04 95.9 19.4 74.2 129.3 102.5 63.2 63.2 60.7
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" H I i 5] I % D At Vi,
Y s 5] i A i & 5] X
N TR I EEE R I T 2 EE R A NI I I L N P R N R E O EEEE G E T P EEER Y I ES
a=ct+e+f | b=c+e =Rt TE L e FH A g=itk+1 h=i+k ZETHEEH
A4 (M) (TM)] ¢ (FIM)| d (FM)] e (FM)| £ (1) (M) (F1) (Fr)| i (FM)] j (T | k (FM)|1 (1)
[HT - | 41,102 L AL1004 T 33,387 2 15,220) 55,2601 55,288 46,056)  e....9:2020 0 2
=il 323,831 323,804 172,524 151,280 27 102,970 250,338 249,467 232,954 16,513 871
X Wi 75,635 75,635 8,020 67,615 35,069 85,147 85,147 75,352 9,795
=T 440,563 140,539 188,257 252,282 29 153,259 390,745 389,872 354,362 35,510 373
B\ A I s 1 i % D £ i
Ao o [ R RS RS RLsFIELE & A i A i ik
Tl 4y & SOk | FAKEME R X B Rl B EERCEE - A S % it B
— b—h (c-d)—G) | RBEXRES e EMER R — K A&
R4 (1) (M) (F1) (FM1) (F1) (F1) (T FE  (FM1) (F1) (M) (F11)
G A 14,158 A 14,158 A 38,343 A 114,744 7,713 9,192 9,192 32,880 623 4,279
=L it 73,493 74,337 A 60,430 118,514 146,860 14,284 14,284 156,354 9,260 35,591
X W i A 9,512 A 9,512 A 67,332 A 2,408 8,020 9,795 9,795 61,146 1 8,239
=T 19,823 50,667 A\ 166,105 1,362 162,593 33,211 33,211 250,380 0,884 48,109
I H % ES 5] i 54 D) N i
% 5] Y A
& ¥ H (ot EE| S A e s FHE A S| fh 234 B & 23 ;% H-RHha&lTFEAaRE] 2 o Wi
}'j_’i ” {- S
k4 (1) (M) (1) (1) (1) (F11) (M) (1) (F11) (M) m (1)
GG 155 4,115 7,052 27 11,349 11,349
IR T 25,500 933 25,572 256 52,261 52,261
KX Wi 9,766 3,727 13,493 13,493
= 25,655 14,314 32,624 3,154 256 77,103 77,103
H H % ZS i i X D) N I 1 EEBLUE S I = ia 5 2
@ g 5] I 32z 5] | Ml R B OR B E|'EARYE 7t
B R | EEAEERE| 2R M| haF el £ o f 7t H B o |® A %
1l N3 B
&4 (T-H) (T-1) (T-1) (T-H) (TH)| n (T-1) (T-1) (T-1) (T-H1) (T-1) (T-1) (1)
G 8,608 36,904 45,512 A 34,163 34,163 269,855 2,049 510 2,559
m Ik 50,335 81,229 131,564 A 79,303 79,303 563,933 4,985 4,985
X @ i 34,196 34,196 A 20,703 20,703 382,044 4,738 4,738
= 58,943 152,329 211,272 A 134,169 134,169 1,215,832 11,772 510 12,282




